
Découverte des fractions décimales -CORRECTION
1/

Le segment [AB] mesure 
4
10

de u.

Le segment [CD] mesure 
6
10

de u.

Le segment [EF] mesure 
13
10

de u.

2/ a =
6
10

 u.         b = 
8
10

 u.        c= 
6
10

u.            d = 
13
10

 u.                e =
26
10

u. 

3/ a =
5
10

        b =
8
10

         c =
14
10

        d =
20
10

         e =
25
10

           f =
34
10

4/ 
12
10

= 1 +
2
10

         
19
10

= 1 +
9
10

           
21
10

= 2 +
1
10

           
25
10

= 2 +
5
10

     
34
10

= 3 +
4
10

          
46
10

 = 4 +
6
10

         
58
10

= 5 +
8
10

          
72
10

= 7 +
2
10

      
125
10

= 12 +
5
10

       
3
10

= 0 +
3
10


